
CLASS-I                                           Assignment  

    English Literature  

Chapter-6                        The Boy and the Toffees  

[Continuation of the same Chapter]  

 Answer the following Question 

 

Q4. How does Arnav reach the jar of toffees? 

A4. Arnav drags a stool to the cupboard. Then, he stands on the stool to 

reach the jar of toffees. 

Q5. Was the mouth of the jar broad or narrow? Give a reason for your 

answer. 

A5. The mouth of the jar was narrow because Arnav’s hand got stuck in it. 

Q6. Rohit helped Arnav. Have you ever helped your friend or your 

brother/sister? 

A6. Yes, I helped my sister to do her homework. 

 

Make Sentences 

1. toffees- I like to eat toffees. 

2. stool- My sister stands on a stool. 

3. eagerly- I am eagerly waiting for my result. 

4. jar- The jar is filled with pickle. 

5. birthday- Today is my friends birthday. 


